

$$a) f(u) = \sqrt{\frac{u-1}{u} - \frac{u}{u-1}} = \sqrt{\frac{u^2 - u + 1 - u^2}{u^2 - u}} = \sqrt{\frac{1 - 2u}{u(u-1)}}$$

$$D_f = (-\infty, 0) \cup \left[\frac{1}{2}, 1\right)$$

$$b) f(u) = \frac{\frac{1}{u+1} - \frac{u}{u}}{\frac{u}{u-1} + \frac{1}{u+1}} = \frac{\frac{u - u^2 - 1}{u(u+1)}}{\frac{u^2 + u + 1}{(u-1)(u+1)}} \rightarrow \frac{u - u^2 - 1}{u^2 + u + 1} \rightarrow u + \frac{1}{u} = -\frac{1}{u}$$

$$D_f = \mathbb{R} - \left\{0, \pm 1, -\frac{1}{2}, -\frac{1}{u}\right\}$$

$$a) f(u) = \sqrt{\left(\frac{1}{e}\right)^u - a} \quad (u^2 - u^2) \rightarrow u^2 = u^2 \rightarrow u = 0, u = \frac{1}{e}$$

$$-u = \frac{1}{e} \rightarrow \frac{1}{e} = \frac{1}{e} \rightarrow D_f = (-\infty, -\frac{1}{e}] \cup \left[\frac{1}{e}, +\infty\right)$$

$$b) \sqrt{u-1} + \sqrt{u+1} = u \Rightarrow \sqrt{u+1} = u - \sqrt{u-1}$$

$$u - \sqrt{u-1} \geq 0 \Rightarrow \sqrt{u-1} \leq u \Rightarrow u-1 \leq u^2 \Rightarrow u \leq 1 \Rightarrow u \leq 1 \Rightarrow u-1 \geq 0 \Rightarrow u \geq 1$$

$$D_f = [1, 1]$$

$$f(u) = \frac{\lg(u^2 - u - 1)}{\sqrt{u^2 - 1} + 1}$$

$$u^2 - u - 1 > 0 \Rightarrow (u-1)(u+1) > 0$$

$$u^2 - 1 > 0 \Rightarrow (u-1)(u+1) > 0$$

$$\frac{-1}{2} \pm \frac{1}{2} \rightarrow (-\infty, -1) \cup (1, +\infty)$$

$$\rightarrow D_f = (-\infty, -1) \cup (1, +\infty)$$

$$\sqrt{-u^2 + au + c} \quad D_f = [-1, b]$$

$$u = -1 \rightarrow -1 - 1 + a + c = 0 \rightarrow a + c = 1 \rightarrow a = \frac{1}{2}$$

$$\sqrt{-u^2 - \frac{1}{2}u + c}$$

$$-u^2 - \frac{1}{2}u + c = 0 \Rightarrow u^2 + \frac{1}{2}u - c = 0$$

$$a + b = -\frac{1}{2} + \frac{c}{2} = \frac{c}{2} = 1$$

$$\frac{-1 \pm \sqrt{1 + 4c}}{2} \rightarrow \begin{cases} u = \frac{1}{2} \\ b = \frac{3}{2} \end{cases}$$

$$f(u) = \begin{cases} ru - r; & u \geq 1 \\ ru + r; & u < 1 \end{cases}$$

-3

$$g(u) = \sqrt{f(u) - u} \Rightarrow f(u) - u \geq 0 \Rightarrow \begin{cases} ru - r - u \geq 0 \Rightarrow ru \geq r + u \Rightarrow u \geq 1 \\ ru + r - u \geq 0 \Rightarrow u + r \geq 0 \Rightarrow u \geq -r \end{cases} \xrightarrow{\cap} [-r, +\infty)$$

$$f(u) = \begin{cases} (a+1)(u+r); & u \geq 1 \\ ru + r; & u < 1 \end{cases}$$

-4

$$rf(a) = f(-r) + a \Rightarrow r((a+1)(r)) = ra - fa \Rightarrow (a+1)r \leq a - r$$

$$10a \leq -18 \Rightarrow \boxed{a \leq -1,8}$$

$$f(r - \sqrt{r}) = \sqrt{r - \sqrt{r}} + \frac{1}{\sqrt{r - \sqrt{r}}} + r \xrightarrow{\cdot \frac{\sqrt{r + \sqrt{r}}}{\sqrt{r + \sqrt{r}}}} \frac{1}{\sqrt{r - \sqrt{r}}} \cdot \frac{\sqrt{r + \sqrt{r}}}{\sqrt{r + \sqrt{r}}} = \frac{\sqrt{r + \sqrt{r}}}{\sqrt{1}} \cdot \sqrt{r + \sqrt{r}}$$

-5

$$f(r + \sqrt{r}) = \sqrt{r + \sqrt{r}} + \frac{1}{\sqrt{r + \sqrt{r}}} + r$$

$$\sqrt{r - \sqrt{r}} = \frac{\sqrt{r - \sqrt{r}}}{\sqrt{r - \sqrt{r}}} \times \frac{1}{\sqrt{r + \sqrt{r}}}$$

$$\textcircled{+} \sqrt{r + \sqrt{r}} + \sqrt{r - \sqrt{r}} + r + \sqrt{r - \sqrt{r}} + \sqrt{r + \sqrt{r}} + r \Rightarrow r(\sqrt{r - \sqrt{r}} + \sqrt{r + \sqrt{r}}) + r$$

$$t^r = r - \sqrt{r} + r + \sqrt{r} + r(\sqrt{r}) = 4 \Rightarrow t \leq \sqrt{4} \Rightarrow \sqrt{r - \sqrt{r}} + \sqrt{r + \sqrt{r}} = \sqrt{4}$$

$$\Rightarrow f(r - \sqrt{r}) + f(r + \sqrt{r}) = \boxed{r\sqrt{4} + r}$$

$$rf(u) - rf(-u) \leq ru^r - u \Rightarrow rf(u) - rf(-u) = \Delta u^r - ru$$

-6

$$rf(-u) - rf(u) \leq ru^r + u \Rightarrow \frac{rf(-u) - rf(u)}{-\Delta f(u)} \leq \frac{ru^r + u}{-\Delta f(u)} \Rightarrow f(u) \leq \frac{ru^r + u}{\Delta}$$

$$(u+r)f(u) - ru f(u+r) \leq ru^r - mu + cm - 1$$

-7

$$\xrightarrow{u=0} rf(0) - 0 = rm - 1 \Rightarrow 10f(0) = 10m - 1$$

$$\xrightarrow{u=r} 4f(0) = 14 + \frac{rm + rm - 1}{\Delta m} \Rightarrow rf(0) = rd + \Delta m$$

$$10f(0) \leq \Delta$$

$$\Rightarrow f(0) \leq \frac{\Delta}{10} = \frac{r\Delta}{10} = \boxed{4,4\Delta}$$

$$f(u) + f(\frac{1}{u}) = \frac{ru^r - 1}{u} + r$$

$$f(u) \leq au + b$$

-8

$$au + b + \frac{a}{u} + b = \frac{ru^r - 1}{u} + r \Rightarrow \frac{au^r + bu + a}{u} = \frac{ru^r - 1}{u} + r$$

$$\textcircled{a=r}$$

$$\textcircled{b=-4}$$

$$y \geq au + b \Rightarrow f(u) \leq ra - 4 \Rightarrow f(-1) \leq -r - 4 \leq \textcircled{-9}$$